[t =M AlCHoll T SetAl ARElS et 3T US| S-7H 224

o

ey 232 233
St
LR m 3w A 57
@ 0.064 @ 0.059
m o R
SR WA BE Fbesl ZEHd HE L - P SR WA BE FlEst 2RuY B8 - P(A)
SS WA 8O Fbesl ZEHY HE o - PBIA) | -5 WA BE 7iSb Z2Hd HE 1o - PBIA)
(+) HBIAVS 3 9A) 7hEst 22 eieke HAlsto (+) PBIAIS 3 9 7HEst 22 uieke ARlsto]
5 A FlEE SEME Br 212 EXUT 5 W FtEw S BE A2 EANC
SR petnat sht g CmeN DA S e
13 13 13 12
i x = 0.
52 51 - 0.064 52 51 0-059
A AR 39 47| 2 34 47

TMeo| 282 st50 EHERl M MO R AfRtE2IL|CE,
O L2 =AF S| fall =35k= At 1|]F0| =|ZSL L.




